VERBAL REASONING TEST C
VR C

| Pupil’s Name | | Date of Test |
DATE OF BIRTH
| School Name | Day Month Year
PUPIL NUMBER SCHOOL NUMBER |
[0] [0]| January | 1990 =
[1] [1]| February —_ 1991
[0 [o] [0] [0 [0] [0] [0 [o] [0] [0 [0] [0] [O] [2] [2] | March — | 1992 =3
oy ool oor oo oy ororoor ooy oo (3 [3]| April [ 1993 =
Please mark 22 2 @2 [ [@ 22 2 @2 2 [ [2 [4] | May — | 1994 &4
Bl B B B B B[ Bl B B B B B @[ [5] | June | 1995 =
i i [4 [4 [ M [ @ [4 [4 [4 @ M [@4 @4 (6] | July — | 1996 =
Ilke thls H' [B1 [8] [B] [B1 [8] [ [B1 [B] [B] [ [61 [8] [ [7]'| August [ 1997 =
[6] [61 [6] [6] [6] [6] [61 [61 [6] [6] [6] [6] [6] (8] | September 1| 1998 [
M mmmimimm [ mwmmimmm [9] | October [ 1999 =
B B 6 8 [8 I[8] B © 8 [8 [8 [8 I[8] November 1 | 2000 I
@ [O] [© [© [© 9 @ [9 [9] [© [©@ [ 9 December 1| 2001 I
EXAMPLE
p &3 g = p = p = f 3 a = m = d =
a = | =3 a r 43 a c = a 3 r
i 3 0 =4 n — i3 c = r 3 d =3 i =
n O3 v t 3 n — t O3 e O3 e O v
t O e &3 c =3 r =3 e &3
e &3
EXAMPLE
dark = new grass 1  scarlet later 1 randomly [ bucket glass straight 31 row [
white B young [ jealousy —1 ruby instantly — following = faint wine perpendicular 1 pipe
old = bad = emerald CJ maroon [ today [ independently [ water [ courage [ horizontal 3 grid 3
EXAMPLE
the child = the hot = let's hide ™=
child fell = hot coffee 1 hide away
pudding = raisin 2| |Australia rider encyclopaedia 1 biography 1 fell over = coffee tasted —1 away from —
fruit = grape 1 pouch = galloping = legend fiction =1 overthe 1 tasted very [ from him —
plum [  currant jumping race poetry [ diary .3 the stone very good
he was isthe which old =3 the rabbit — please be A O
was happy the yellow =1 old picture —1 rabbit escaped be home = B O
happy on yellow shape picture would 1 escaped from I home at 1 C O
onthe = shape the 1 would you =1 from the =3 at eight 3 D =4
the farm 3 the biggest 1 you like —1 therun eight o’clock = E O3
EXAMPLE
COR —I APE 1 RUN — TAP AND CAR ALL = THY =
ROK 1 DEN = RIO = TEN = CAP ARC LOT &= RYE
COA — TEN — ORE PAT SAP 1 RAN 1 PEN HER =
0AK = PET FOR ™= ART = LAN = ONE = MET 3 THE =
CAR PEN FOE TAN APE 1 CAN — TEN ORE =
EXAMPLE
race fllg &= safari [ binoculars 1 dress 1 model avalanche 3 tsunami apprentice 1 invoice
shop end jeep lions decorate 1 outfit = hurricane = cyclone I apparition 1 experience [
stat = begin = rhinoceros 1 expedition fashion 3 millinery earthquake flood = novice 1  spectre [
hero —  valour sensible 3  reactor 3 microscope [ germ —
medal 3 conflict 3 sensitive [ recreation medicine 3 antibiotic 3
courage [ campaign [ sensation [ responsive microbe [ stethoscope 1
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EXAMPLE [4] [ 4 [4 M M
= SR I PQ HF = SF o= BF Bl BBl Bl
N0 = RS 00 & H = R = BD = (6] 61 (6 [6 [6] [6]
= ST R = GF I S O DF v momrm
0P = TR O =" GD 8 = G = 6] 6 [6 [ [8 B
PQ RU = DB O RT O AC O B ©BEeo
RU =3 QP =
QU Q0 EXAMPLE
Qs = PM = red 3 jumper chap 3 orchard I thread T2 jumper sand witch =1
RV &= PN = garden - house == tree I rest cotton 2 woolly bar 1 paper
Qv = QN = green = rose [ man 1 grove [ wool [ bare | |chocolate crow I
EXAMPLE EXAMPLE
2 O 17 O
4 O 25 O
mug [ ant 1 i —= cell up =4 cal wave [ down 1 6 O 50
pot =1 rest 1 copy 1 right 3 out ™= voice [ rest 1 arch 8 O 19 =
cup [ board 1 can [ day 1 in sent [ sea [ son [ 10 5 21 O3
36 16 = 36 37 &= 55 1" = 24 ™ A
48 — 20 35 40 ™ 59 12 & 25 B =
30 = 24 O 31 = 36 — 27 13 & 26 1 C =
42 ™ 35 32 42 ™ 53 21 = 28 D =
46 28 1 25 44 — 57 24 ™ 16 = E O
EXAMPLE
A O A A A A A A A
B & B = B = B = B = B = B = B =
C 3 C = C = C = C = C = C = C =
D = D = D = D =3 D = D = D = D =
E O E O E O E O E O E O E O E O
EXAMPLE
L =43 R S O H = A D & T3
S 3 L =3 w = B = E O3 S O (o
T = N = P = P = S O N N
B O S 3 D = T3 D O R = H =
F O3 T =0 R E O 0 = L O A
EXAMPLE
March = satellite hornet 1 lake mansion [ astonishing chalk — helicopter 1
Monday = meteor 1 wasp pond = library = gigantic — gravel 3 swan [
July = star caterpillar 1 river house 1 amazing [ granite hedgehog 1
December —1 rocket locust — reservoir bungalow fantastic — limestone dragonfly —
Christmas = planet earwig stream office ™4 massive 1 wood I newt 1
EXAMPLE
map ready 1 later 3 tried mossy [ bears issue [ rush —
tap brood = ample their myths beans rouse 1 bars 3
tip = cored ladle 1 stiff 3 theme = drain 3 noise 1 bush =1
hat & dread 3 apple — shred moors [ brain =3 snore [ bash ™=
mit badly 1 tempt 3 shire story 3 beats 1 nodes 1 ribs 1
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